REDROCK

AUXILIARY MIRROR FOR
OEM HOOD BRACKET

(2021-2024+ BRONCO)

INSTALLATION INSTRUCTIONS

CONTENTS

1) Mirror

1) Mirror Bracket

1) M5x0.8 Flange Nut

1) M5 Lock Washer

1) M5 Flat Washer

2) M6x1.00 x 30mm Allen Bolts
2) M6 Lock Washers

2) M6 Flat Washers

)

(
(
(
(
(
(
(
(
(2) T-30 Torx Keys

TOOLS REQUIRED

8mm Socket/Wrench

T-30 Torx Socket/Wrench
Ratchet

5mm Allen Key (Provided)

SKU # FB38642
Edited: 01/17/2024



REDROCK

STEP1

Using (2) T-30 Torx sockets, loosen and separate the T-30 Torx bolts & nuts inside of the hood
mounting bracket.

STEP 2

Fit (1) OEM T-30 Torx nut into the hood mounting bracket. Then, align the mirror bracket to the hood
bracket. Secure the mirror bracket to the vehicle using (2) M6 x 30mm bolts, (2) M6 lock washers, and
(2) M6 flat washers. Tighten evenly until secure.



REDROCK

STEP 3

Install (1) M5 nut, (1) M5 lock washer, and (1) M5 flat washer onto the mirror threaded stud. Then,
thread the mirror stud into the mirror mounting bracket threaded hole. Once fully threaded into

place, tighten the previously installed M5 hardware against the mounting bracket to act as a jam

nut.

STEP 4

Loosen the (3) Phillips bolts to allow the mirror to adjust on the pivot joint. Adjust the mirror to the
desired position, and then tighten the Phillips bolts until secure.

Installation is now complete.



	FB38642 - RedRock - Auxilliary Mirror for OE Hood Bracket Attachment (21+ Bronco)-01
	FB38642 - RedRock - Auxilliary Mirror for OE Hood Bracket Attachment (21+ Bronco)-02
	FB38642 - RedRock - Auxilliary Mirror for OE Hood Bracket Attachment (21+ Bronco)-03

